[image: image1.wmf]
Installation Guide

Lynx Module Rack Mount Extension



TIMELINE VISTA, INC.
1755 LA COSTA MEADOWS DRIVE, SUITE B

SAN MARCOS, CA  92069

TEL. 760-761-4440

(FAX 760-761-4449)

SUPPORT@DIGAUDIO.COM
DATE:
07/24/92

MODEL:
Lynx Time Code and Film Modules

REVISION:
N/A
SERIAL NO:
N/A
SOFTWARE:
N/A

REQUIRED TOOLS:

Static safe workstation
Phillips screwdriver
Grounding wrist strap


REQUIRED PARTS:


71B001 Single Module Rack Mount Extension Kit
with Hardware Kit including:

3 #8-32 Phillips Head Screws

3 #8-32 Nuts and Lock Washers

Single Rack Ear shipped with the Lynx Module
with Hardware Kit including:

3 #8-32 Flat Head Phillips Screws
3 #8-32 Pan Head Phillips Screws

3 #8 Lock Split Ring Washers
3 #8-32  Self Locking Nuts

DESCRIPTION:

This Lynx module accessory enables a single unit to be rack mounted by extending the size of the unit to a full rack width.  It is compatible with all Lynx Time Code and Film Modules.  Installation can be on the left or right side.


PROCEDURE:


1.
Turn off the power to the Lynx module. Disconnect all cables.

2.
Place the module on a static safe work-station. Ground yourself and the 
workstation anti-static mat.

3.
Remove the 6 phillips screws holding 
the top cover to the chassis.  Remove 
the top cover.

4.
Remove the screws holding the Time Code Reader or Film Processor PCB. 




Figure 1. Remove the Top Cover

Installation Guide

PROCEDURE continued:
5.
In the Time Code Module disconnect cables P1 and P4 and lift the Time Code Reader PCB out of the way.  In the Film Module lift the Film Processor PCB out of the way to gain access to the mounting holes on the chassis’ left side. 

Right Side Installation
6.
Secure the extension unit to the right side of the chassis using the 3 phillips screws and lock washers provided.  The supplied nuts are not used because the right side of the chassis has nuts permanently attached to the inside of the chassis. 

7.
Attach the rack mount ear, supplied with the Lynx module, to the left side of the chassis with the 3 flat head phillips screws, and self lock nuts provided.  See Figure 2.
Proceed to step 10.




Figure 2.  Installation of  Single Rack Extension Unit

Left Side Installation
8.
Secure the extension unit to the left side of the chassis using the 3 phillips screws, lock washers and nuts provided.  

9.
Attach the rack mount ear, supplied with the Lynx module, to the right side of the chassis with the 3 flat head phillips screws.  The supplied nuts are not used because the right side of the chassis has nuts permanently attached to the inside of the chassis. 

10.
Place the Time Code Reader or Film Processor PCB on the standoffs.  Insert and tighten the screws.  Reconnect cables P1 and P4 on the Time Code Reader PCB.  Replace the top cover. Insert and tighten the 6 screws and reconnect the cables to the Lynx module.  

ECC NO. 342
Page 

73J017 REV A


_872425852.doc
�������������������������������������������������������������������������������������������������������������������������������������������



REMOVE







PCB







�







�







�







�







�







�







�







MISC012A
















_872425875.doc
��������������������������������������������������������������������������������������������������������������������������������������������������������������������������



�







�







�







�







FLA







T







 HEAD SCREWS







P







AN HEAD SCREWS







SELF LOCK NUT







LOCKW







ASHER







LEFT







 RACK







MOUNT







 EAR







CHASSIS







SINGLE RACK







EXTENTION UNIT







THIS SIDE 







T







APPED







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







�







MISC013A
















